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Time : 3Hrs. Sem. 111 (G)
App. Maths -1
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol & SR <, TAS U & A9 63(FH 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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11.

OR (3121a1)
Obtain the Fourier series to represent the function

f(x)=| x| for - t <x <7 and hence deduce that

2 1 1 1 1

§ Cptytyt ot

iR faRe Frerd wefe

f(x0 = (x) for -n<xn T4 f=ifeRaa dqg @t
EIGECEd

Solve the following equation by Gauss Elimination
method: 6
2x+3y+z=13;

x-y-2z =-1;

3x+y+4z=15

e gfafiqae faftr 9 freafaRaa wfiezon
Bl B B

2x+3y+z=13;

X-y-2z =-1;

3x+y+4z=15

NT3002 3 1600301

(ii) Icotx dx SRISR B—
(31) log tan x+c
(@) log sin x+c
(|) log cos x+c

() s 4 HIg T8

1
(i) J' XL gy is equal to....
g X

(a)0
(b) 1
(c)2
(d) None of these
G | :|—;‘| R R
@) o
(@) 1
(|) 2
(?) 379 A HIg T8

(iv) J.i cos xdx is equal to......

2
(a) 1
(b) -2

(c) 2
(d) None of these

P.T.O



O°'Ld

9 £ 0 1

Y: """"" +T+T+T

[\l

| RR) & (Rbh DRIty e
1>X0" (x21)-F= (X))

bin Rlok] YR Ak}|lh

9_ _________ ZE ZZ Z[
e TR

uone[a1 SUIMO[[0J Y} UIe}qo IJUH
1ZX0° (1) = (X))
1u9sa1da1 03 SALIAS JALINOY Y} ureIqO

0 = (0)& ‘C = (0)A UAAIS )¢5009 = K6+ ,A
—2b P2 dblr|RK I hlhRa13 RIMID

0 = (0)& °C = (0)A UAAIT )¢5009 = A+ ,4
Jo uonnjos oY) puy wojsuen ddede| 3ursny

(lprR)IO

01

10€0091 | 14 C00€LN

Bk Ble B kkE (2)
bo(R)
0o (¥
= (k)

0
EiM%IM!XPX-@J‘

oo

asay Jo duoN (p)
1)
0 (@

I-(e)
0

""" 0} renba st xp .9 I

09

Bk Ble B kkE (2)
¢ (k)
z— (b)
L (i)
4

(a)

(»)

<
2 2BIMb XPX 500 J‘ (A1)

4

u

C00€LN ¥

10€0091



1600301 20 NT3002 NT3002 5 1600301

8. Solve: . a
one L, dy (vi) .[ f(x) dx is equal to.......
smzaer =cotx 0 .
(@) | fla+x) dx
T P 6 °
24y by | f(x-a) dx
s dx+y =cotx '[O
a
(0) | f(ax) dx
OR (3121a1) 0
(d) None of these
Solve : ' a
dy  6x-2y-7 0D [ fx) dx aeree R
dx  2x+3y-6 0 a
(@0)[ fa+x) dx
A P 0
dy _ 6x-2y-7 @] f(x-a) dx
dx 2x+3y-6 0
(@) j f(a-x) dx
0
9. Using convolution theorem evaluate @) 3 @ P T8
B 1 (vi)  The order and degree to the differential
L <{(s-z) (s+2)2};(3>0) 2 2
6 equation x+ d_y =A |1+ d_y 1s
. d d
SIS YA ST YA R A1 Fdprel— (2)2 &2 x *
(b)1 &2
1 1
U] 5 sy 10 ()1 &4
(d) None of these
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et cos’t BT ATl ST=ahid fdrd | (ix)
OR (3r21d)
Find the inverse laplace transform of
[ 45-3]
= Sz+9-
®T aHT dATATH gaHid Tl | (ix)
[ 48-3]
= Sz+9-

Find a real root of the equation x?- x-1 =0 by using
regular falsi method (Three Iteration only)

R Bicd! fafer &1 gair &) wfiavor
x2-x-1=0 &1 (& dRdidd ol ATd B |
(=1 T 9 d)

x)

OR (3721dn)

Using Newton -Raphson method find a real root of
the equation x3-2x-5=0 (three iteration only)

e —wwq A o1 garer |fiaor
x3-2x-5=0 &1 TP aRAfdd ol ATd BN |
(= T W dP)

7 1600301

The orthogonal trajetories of x? - y> = ¢? is
@x+y=c
(b) x-y=¢

(c) xy=¢?
(d) None of these

x2-y?=c? BT AHADIVT YU B—
@) x+y=¢c2

@ x-y=¢

(}) xy=¢’

(€) g 4 »Ig &

Which of the following is a homogeneous

differential equation?

dy
(a) x—-y=2x%y
dx

dy
(b) () — =2xy
dx
dy
(©) I sin(x+y)

(d) None of these
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GROUPB
Answer all Five Questions.
_ 4x5=20
gl 9fg gyl & SO &
2. Integrate
| dx
J Vx+a - Vx-a
TAHTH AT B 4
) dx
Vx+a - Vx-a
OR (3721d1)

Find the mean value of the function y = 4-x? over
[0,2]

B y=4-x> BT mean value [0,2] H fT&Tel |

3. Evaluate :

NT3002

(xii)

(xii)

(xiii)

9 1600301

Laplace transform of 8 that is L{8} is equal
to (when s>0)
(a) 8s

S
(b) g
O
S
(d) None of these

8 B AT S-a%hid 3ratd L{8) sRIaR 2
(o1d s>0)

(1) 8s

@ ¢

(@) 2

(@) 3 A B TE

L{cos at } is equal to (When s>0, t >0)
(a) SZ_-SFaZ

®

(©) —°

a’-s?

(d) None of these

P.T.O



O'Ld

@k Be B pex ()
R} p2lh 15Ty (B)
Rk BlayE2 plek (k)
BjR) BlapiRid Bl (i)

Ikl 1e Bh @ 0= (X)) lnddlph

asay} Jo duoN (p)

poyow 1s1ey ren3ay (9)
poylow uoneId[[ s,1qooef (q)
poylow uoneUIWIA ssnex) (8)
Q pauIg)qo- e -

(xx)

0= (x)J uonzenba o jo j001 Jewnxorddy  (xx)

10€0091

SI

C00€LN

Bk Ble B kkE (2)

5 (®)

2 (B)

P (1)

(01°0<s bIn) =@ aplab {7 1
asayy jo suoN (p)

50

12 (4)

9 ()

(0 21 “0<s uaym) 03 Tenba st %} e
1Bk Bl R k3 ()

S-®
W

-

= (¢)

B8
< ()

(A1x)

(A1)

— (021°0<sbin) @ Ablab{ 1B S0} T (rx)

C00€LN or

10€0091



1600301

14 NT3002

(xvii)) HHIDHIOT x*+3x-7=0 BT Ydb Yol F-CX¥Hel

(xix)

(xix)
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(31) 1.2

@) 13

(@) 1.4

() 39 A &Ig T2

If f(x) =0 is an algebraic equation then
Newton Raphson method is gives by:
Xl = Xn—f(%“) Find the missing term (?)

(@) f (Xp1)

(b) ' (xp-1)

(©) ' (xp)

(d) None of these

afs fiwr T T e fix) =0 2 a9
e Ywae fafer -

X = Xp - fx,) (?) @Tell 9g &I A1d B |

()
(3:[) f(Xn-l)
@) ' (xp1)

(@) ' (x)

(]) 39 | BIs A2l |
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v) IfL'{f(s)} = f(t)then L {f(s-a)} is equal

to (When s>0; t > 0)

(@ £ L' {f(s)}
(b) T {f(s)}
(c) e L'{f(s)}

(d) None of these

afe C'if(s)} = f(t) @& L' {f(s-a)} aRT&R
2 (W95.0;t>0)

@) <1 (s}
@) fat L' {f(s)}
@) ' L' {f(s)}

() 579 4 DIs I
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